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QUESTION 1

View the exhibit, which contains an entry in the session table, and then answer the question below.

session info: proto=6 proto state=1ll duration=53 expire=265 timeout=300 flags=00000000
sockflag=00000000

origin-shaper=

reply-shaper=

per ip shaper=

ha id=0 policy dir=0 tunnel=/ vlan cos=0/255

user=AALT state=redir log local may dirty npu nlb none acct-ext

statistic (bytes/packets/allow err): org=2651/17/1 reply=19130/28/1 tuples=3

tx speed (Bps/kbps): 75/0 rx speed (Bps/kbps): 542/4

orgin->sink: org pre->post, reply pre->post dev=7->6/6->7 gwy=172.20.121.2/10.0.0.2
hook=post dir=org act=snat 192.167.1.100:49545->216.58.216.238:443(172.20.121.96:49545)
hook=pre dir=reply act=dnat 216.58.216.238:443->172.20.121.96:49545 (192.167.1.100:49545)
hook=post dir=reply act=noop 216.58.216.238:443->192.167.1.100:49545 (0.0.0.0:0)

pos/ (before, after) 0/(0,0), 0/(0,0)

src mac=08:5b:0e:6c:7b:7a

misc=0 policy id=21 auth info=0 chk client info=0 vd=0

serial=007£2948 tos=ff/ff app list=0 app=0 url cat=41

dd type=0 dd mode=0

npu state=00000000

npu info: flag=0x00/0x00, offload=0/0, ips offload=0/0, epid=0/0, ipid=0/0, v1lan=0x0000/0x0000
v1ifid=0/0, vtag in=0x0000/0x0000 in npu=0/0, ocut npu=0/0, fwd en=0/0, gid=0/0

Which one of the following statements is true regarding FortiGate\\'s inspection of this session?
A. FortiGate applied proxy-based inspection.

B. FortiGate forwarded this session without any inspection.

C. FortiGate applied flow-based inspection.

D. FortiGate applied explicit proxy-based inspection.

Correct Answer: A

https://kb.fortinet.com/kb/viewContent.do?externalld=FD30042

QUESTION 2

Examine the output of the “get router info bgp summary\\' command shown in the exhibit; then answer the question
below.
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# get router info bgp summary

BGP router identifier 0.0.0.117. local AS number 65117
BGP table version 1s 104

3 BGP AS-PATH entnes

0 BGP community entries

Neighbor V  AS MsgRevd MsgSent ThlVer InQ OutQ) Up/Down StatePfxRed
10.125.0.60 4 65060 1698 1756 103 0O 0 03:02:49 1
10.127.0.75 4 65075 2206 2250 102 0 0 02:45:55 1
10.200.3.1 4 65501 101 115 0 0 0 never Active
Total number of neighbors 3
Which statements are true regarding the output in the exhibit? (Choose two.)
A. BGP state of the peer 10.125.0.60 is Established.
B. BGP peer 10.200.3.1 has never been down since the BGP counters were cleared.
C. Local BGP peer has not received an OpenConfirm from 10.200.3.1.
D. The local BGP peer has received a total of 3 BGP prefixes.
Correct Answer: AC
QUESTION 3
View the global IPS configuration, and then answer the question below.
config ips global
set fail-open disable
set intelligent-mode disable
set engine—-count O
set algorithm engine—-pick
end
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Which of the following statements is true regarding this configuration?

A. IPS will scan every byte in every session.

B. FortiGate will spawn IPS engine instances based on the system load.

C. New packets will be passed through without inspection if the IPS socket buffer runs out of memory.

D. IPS will use the faster matching algorithm which is only available for units with more than 4 GB memory.

Correct Answer: A

QUESTION 4

View the exhibit, which contains the output of a debug command, and then answer the question below.

se hardware syainfo conserve

NSETVE mMOAE: on

noOry L

Memory fr
MEmMOCY U

wemory used thr old green:

Which one of the following statements about this FortiGate is correct?

A. Itis currently in system conserve mode because of high CPU usage.

B. It is currently in extreme conserve mode because of high memory usage.
C. Itis currently in proxy conserve mode because of high memory usage.
D. Itis currently in memory conserve mode because of high memory usage.

Correct Answer: D

QUESTION 5

Which two conditions must be met for a statistic route to be active in the routing table? (Choose two.)
A. The link health monitor (if configured) is up.

B. There is no other route, to the same destination, with a higher distance.

C. The outgoing interface is up.

D. The next-hop IP address is up.

Correct Answer: AC
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